
Mock Test-I 

Chemistry 

(Optional) 

Full Marks – 70 

Pass Marks – 23 

All questions are Compulsory 

lHkh iz’u vfuok;Z gSA 

One mark Questions : 1 vad Á'u  
 

1  The flow of current in an electrolyte is due to the moment of - 1 

 a electron   

 b proton   

 c ion   

 d none of these.  

  /kkjk dk Áokg fdlds }kjk gksrk gS &   

 a bysDVªkWu   

 b ÁksVksu    

 c vk;u  

 d buesa ls dksÃ ughaA    

2  On which of the following does the rate of a reaction depend - 1 

 a Temperature   

 b Concentration on of reactant    

 c Pressure    

 d All of these.   

  ÁfrfØ;k dh nj fuEufyf[kr esa fdl ij vkfJr gksrk gS &   

 a rkiØe    

 b Áfrdkjd dk lkUæ.k    

 c nckc    

 d buesa ls lHkhA    

3  Which of these is an ore of Copper ?  1 

 a Malachite   

 b Calamine   

 c Haematite   



 d Bauxite.    

  buesa ls dkSu rk¡ck dk v;Ld gS &   

 a eSysdkbV    

 b dSykekbu    

 c gsesVkbV    

 d cSdsykbVA    

4  Hydrogen bonding is not present in - 1 

 a PH3  

 b NH3  

 c H2O  

 d HF  

  gkbMªkstu ca/ku fdlesa mifLFkr ugha gksrk gS &   

 a PH3  

 b NH3  

 c H2O  

 d HF  

5  Para magnetism arises due to –  1 

 a paired electrons     

 b a lone pair of electrons   

 c an unpaired electron   

 d none of the above.  

  ikjkeSXusfVTe fdlds dkj.k mRiUu gksrk gS &   

 a ;qXe bysDVªkWu  

 b ,d ;qXe tksM+k bysDVªkWu  

 c ,d v;qXe bysDVªkWu   

 d buesa ls dksÃ ughaA   

6  Glycerol is a -  1 

  (a) Monohydric alcohol (b) dihydric alcohol (c) Tri hydric alcohol (d) none 

of these. 
 

  Xyslsjksy ,d ---------------------- gS &   

  (a) eksuksgkbfMªd vYdksgy  (b) Mk;gkbfMªd vYdksgy (c) VªkÃgkbfMªd 
vYdksgy (d) buesa ls dksÃ ughaA  

 

7  A Carbohydrate contains at least -  1 

  (a) 6-Carbons (b) 3-Carbons (c) 4-Carbons (d) 2-Carbons.  



  ,d dkcksZgkbMªsV de ls de ----------------------- dkcZu j[krk gS&    

  (a) 6&dkcZu (b) 3-dkcZu (c) 4-dkcZu (d) 2-dkcZu     

8  Phenol is a/an  1 

  (a) insecticide                                 (b) antiseptic   

  (c) disinfectant                                (d) antacid.   

  QsukWy ,d ------------------ gSA   

  (a) dhVuk’kd                                 (b) iwfrjks/kh   

  (c) fMfluQsDVsaV                              (d) izfrvEy  

  Very Short answer question :  

9  Give an example of neutral ligand. 1 

  ,d mnklhu fyxSaM dk mnkgj.k nsaA    

10  What is the purest form of iron.  1 

  ykSg dk 'kq) :i D;k gS \   

11  What is electrophoresis.     

  fo|qr d.k lapkyu D;k gSA    

12  What is Grignard’s reagent ? Give example.  1 

  xzhxukMZ mRÁsjd D;k gS \ mnkgj.k nsaA    

13  Give reasons formaldehyde is more reactive than Acetaldehyde.   1 

  dkj.k crk,¡ fd QkeZfYMgkbM ,lsVyfMgkbM ls T;knk fØ;k'khy gS \  

14  Why are amines basic ? 1 

  ,ehu {kkjh; gS & D;ksa \    

15  Define reaction rate. What are its units.   1 

  ÁfrfØ;k ds nj dks ifjHkkf"kr djsa \ bldh bdkÃ D;k gS \    

  Short answer questions :  

16  (a) What are detergent ? 2 

  fMVjtsaV D;k gS \  

  (b) What is the main Constituent of Dettol ?    

  fMVksy dh eq[; lajpuk D;k gS \  

17  What are macromolecules ? Give example.  2 

  eSØkseksysdqYl ¼cM+kv.kq½ D;k gS \ mnkgj.k nsaA   

  or   



  How is hard rubber obtained from simple rubber ?  

  lk/kkj.k jcj ls dM+k jcj dSls cuk;k tkrk gS \  

18  Give reasons why transition metals.  2 

  
(a) have high melting points and  

(b) form alloys with are another.  
 

  

dkj.k crk;sa & fd D;ksa laØe.k rRo&  

(a) mPp DoFkukad (meltingpoint) 

(b) ,d nwljs ds lkFk feJ /kkrq cukrk gSA  

 

19  Why are compounds of Fe (III) more stable than those of Fe (II). 2 

  
ykSg ¼III½ ;kSfxd ykSg ¼II½ ls T;knk LFkk;h gSA  

 
 

20  Arrange the following in order of increasing-  2 

  (a) Acid strength HF, Hcl, HBr, HI  

  (b) Oxidising Power – HOCl, HClO2, HClO3, HClO4.  

  fuEu dks c<+rs Øe esa ltk,¡A   

  (a) vEyh; 'kfDr& HF, Hcl, HBr, HI   

  (b) vkDlhdj.k 'kfä– HOCl, HClO2, HClO3, HClO4.  

21  How are the following metals purified ? 2 

  (a) Cu    (b) Zn    (c) Sn     (d) Ni   

  fuEu rRoksa dk 'kqf)dj.k fdl Ádkj fd;k tkrk gSA   

  (a) Cu    (b) Zn    (c) Sn     (d) Ni  

22  (a) How can you recharge a battery ? 2 

  (b) Give two examples of secondary cell ?   

  (a) vki cSVjh dk fjpktZ dSls dj ldrs gSa \   

  (b) f}rh;d lsy dk nks mnkgj.k nsaA   

23  What are the different types of crystalline solids ? Explain. 3 

  fofHkUu Ádkj ds fØLVykbu Bksl dk o.kZu djsaA   

24  
A solution containing 29 gm. of a non-volatile solute in 250 gm. of water 

boils at 373.52 K. The boiling point of pure water is 373 K. Find the molar 

mass of the solute. Given Kb = 0.52K Kgmol
-1

 

3 

  
,d ?kksy 29 xzkå uu HkksykVkby ?kqY; 250 xzkå ty esa j[krk gS tks 
373-52K ij xeZ fd;k tkrk gSA 250 xzke ty ds ?kksy esa 29 xzk0 
uuHkksykVkby ?kqY; gSA 'kq) ty dk DoFkukad ¼Melting Point½ 373K 

 



gS rks ?kksyd dk eksyj ek=k Kkr djsaA fn;k gS Kb = 0.52K Kgmol
-1

 

  or   

  Explain Henry’s law ?   

  gsujh fu;e dk o.kZu djsaA   

25  (a) What is Kohlrausch’s Law of independent migration of ions ? 3 

  Lora= :i ls vk;u ds xeu dk dksyjkmp dk fu;e D;k gS \   

  (b) What do you understand by 1 Faraday ?   

  
1&QSjkMs ls vki D;k le>rs gSa \  

 
 

26  What is Catalyst ? How does it enhance the rate of a reaction.  3 

  mRÁsjd D;k gS \ ÁfrfØ;k ds nj dks fdl Ádkj ÁHkkfor djrk gS \   

27  Compare physisorption and chemisorptions.   3 

  fQftvkslkWjIlu ,oa dsfe;kstkWjIlu esa rqyuk djsaA   

28  (a) What are emulsions ?  3 

  (b) Give four uses of emulsions ?   

  (a) bEylu D;k gS \   

  (b) bEylu dh pkj mi;ksfxrk crk;saA   

29  
A first-order reaction is 30% Complete in one hour. Calculate the rate 

constant for the reaction. I how much time will the reaction take for 80% 

completion ?  

3 

  ÁFke Øe dh ÁfrfØ;k ,d ?kaVs esa 30% iw.kZ djrh gS rks ÁfrfØ;k dh 
nj fdrus le; esa 80% iw.kZ djsxkA  

 

  or   

  What happens when :-   

  (a) Ethyl bromide is treated with KOH ?   

  (b) Chloroform is treated with aniline and KOH ?   

  (c) Acetone reacts with Iodine.   

30  Write shorts notes on -  3 

  (a) the Kolbe reaction.   

  (b) the Reimer-Tiemann reaction.   

  fuEu ij fVIi.kh fy[ksa &   

  (a) dksYcs ÁfrfØ;k   

  (b) jk;ej&Vk;eu ÁfrfØ;kA   

  or   

  How will you bring about the following Conversions ?   

  (i) Methyl amine to Ethyl amine   



  (ii) Methanal to Ethanal   

  (iii) Formic Acid to Acetic Acid.   

  fuEufyf[kr esa cnyko dSls djsaxsA   

  (i) feFkkby ,feu ls ÃFkkby ,feuA   

  (ii) feFkkuy ls bFkkuyA   

  (iii) QkWÆed vEy ls ,flfVd vEyA   

  Long answer questions :    

31  Describe the lab. preparation of Formic Acid.  5 

  QkWÆed vEy ds Á;ksx’kkyk fof/k dk o.kZu djsaA   

32  Give reactions (one each) to show that concentrated sulphuric Acid acts as 

a – (a) strong Acid (b) dehydrating agent   
5 

  lkUæ lY¶;wfjd vEy fuEufyf[kr esa fdl Ádkj O;oâr gS] ÁfrfØ;k 
nsaA (a) etcwr vEy (b) fMgkbVªsfVax ,tsaVA  

 

  or  

  Calculate the mole fractions of the two components in a 10% by mass 

solution of common salt in water.  
 

  eksy ladYi Kkr djsa tc nks rRo ¼dEiksusaV½ 10% ek=k ds lkFk ty 
esa lk/kkj.k yo.k ds lkFk ?kqyk gksrk gSA  

 

33  (a) Give the shape of  5 

  fuEu dk vkdkj fy[ksaA   

  (a) PCl5 (g)      (b) PCl5 (s)        (c) PH3  

  (b) How is PCl5 prepared ?   

  QkWLQksjl isaVkDyksjkbM dSls cuk;k tkrk gS \   

  (c) What happens when SO2 is treated with (a) H2O    (b) NaOH.   

  D;k gksrk gS tcfd lYQjMk;DlkbM ty ,oa lksfM;e gkbMªksDlkbM 
ds lkFk ÁfrfØ;k djrk gS \  

 

  or  

  The Molar concentration of glacial acetic acid is 17M. Find the number of 

grams of acetic acid in half a litter of this solution.  
 

  XySfl;y ,lsfVd vEy dk eksyj lkUæ.k 17 eksy gSA bl ?kksy ds 
vk/kk yhVj esa fdruk xzke ,lsfVd vEy gSA  

 

 


